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1) TRADE THEORY

Question No. 1/ Question ID 104
Which bearing material is used for light loading and low speed application?
TTSC ST SR HH T & TeAbH & foTg D Wt foafer araeht &1 SuiT fasa i g2
(A) O Copper and lead alloys
HIR 3R e gt erg
(B) O Cadmium based alloy
Fsftrm smenfed fiysr erg
(C) O Castiron (Correct Alternative) (Chosen Option)
HI¥C ATIRA (Correct Alternative) (Chosen Option)
(D) O Tin bronze
IR

Marks: 2.00

Question No. 2 / Question ID 91
What is the operation of a metal coated with other metal to obtain protecting surface?
T TqE U B & 7T 37 o1g & 1 AT e1g & Taire o1 32
(A) O Cementation
SR

(B) O Electroplating (Correct Alternative)
(Correct Alternative)
(C) O Galvanizing (Chosen Option)
31T (Chosen Option)
(D) O Cladding
FifeT

Marks: 2.00

Question No. 3 / Question ID 39
What is the part marked as X’ in lapping tool?
e # ' Rifgd i e M e g

(A) O Bush
@
(B) O Slit (Correct Alternative)
e (Correct Alternative)
(C) O Sleeve (Chosen Option)
wia (Chosen Option)
(D) O Groove
ECl

Marks: 2.00

Question No. 4 / Question ID 194
What is the name of the clutch?
Y 3 BT 1 T 82

Marks: 2.00




(A) O Dog clutch (Correct Alternative) (Chosen Option)
BT o (Correct Alternative) (Chosen Option)
(B) O Single plate clutch
e wic aerd

(C) O Airclutch
TR &

(D) O Cone clutch
DI T

Question No. 5/ Question ID 98
What is the name of gauge?
T 71 &7 ATH 1 52

(A) O Slip gauge
U et

(B) O Angle gauge
LUCKIE|
(C) O Centre gauge (Correct Alternative) (Chosen Option)
LS| (Correct Alternative) (Chosen Option)
(D) O Screw pitch gauge
% g

Marks: 2.00

Question No. 6 / Question ID 281
What is the material of sling hooks?
&0 g &1 IR w32
(A) O High carbon steel

I I ST
(B) O Low carbon steel

@

Marks: 2.00




(C) O Medium carbon steel
A He SIG

(D) O High tensile steel (Correct Alternative) (Chosen Option)
3= d-1d ST (Correct Alternative) (Chosen Option)

Question No. 7 / Question ID 244 Marks: 2.00
What is the type of solenoid valve?
T3S dTed BT UHR 7 872

(A) O Double solenoid valve
S99 AIgS dled
(B) O 5/2 way single solenoid valve
5/2 4 Rt ez dred
(C) O 5/2 way double solenoid valve
5/2 4S9 AAI3S dled
(D) O 3/2 way single solenoid valve (Correct Alternative) (Chosen Option)
3/2  RiTTa WeHTSS aTed (Correct Alternative) (Chosen Option)

Question No. 8 / Question ID 114 Marks: 2.00
Why extra clearance is provided between bearing and journal in the aluminium alloy bearing?
forsy g ol o faafien oik wia & st sifaRad s Faf g 82

(A) O To allow lubricant to flow freely

WEP P! WA U J 78 F for
(B) O To overcome leaner expansion

IR RS9 = & fore

(C) O To over come co-efficient expansion (Chosen Option)

Ul faRdR &1 QR A & folT (Chosen Option)
(D) O To overcome high thermal expansion (Correct Alternative)

THRIURM TR Wqﬁ % T (Correct Alternative)

Question No. 9 / Question ID 212 Marks: 2.00
Why in hydraulic pump the filter is installed in suction line?
YU & e aRM ared # & e fovar Sar 82

(A) O Preventing foreign matter (Correct Alternative) (Chosen Option)

1<) UeTdl &1 ST F forw (Correct Alternative) (Chosen Option)
(B) O Reduce the oil to enter

I BT U HH A b fog
(C) O Reduce pressure in the pump

UU H q&1d $H B & g

(D) O Increase the pressure in the pump

iU ¥ garg g6 & fag

Question No. 10 / Question ID 269 Marks: 2.00
Which cutting fluid is used for turning copper?
ST B e B & o o aRa vered &1 Iy faa i 82
(A) O Lard oil (Chosen Option)
S (Chosen Option)
(B) O Soluble oil (Correct Alternative)
aa (Correct Alternative)




(C) O Mineral oil
T ad

(D) O Kerosene
F1dd

Question No. 11 / Question ID 61 Marks: 2.00
What is the finishing process carried out with abrasive sticks to correct the profile of internal cylindrical surfaces?
ey ey & 1Y SAIHR gl &b MBI B Tat B 31 BRI ufshar @1 g2
(A) O Filing (Chosen Option)

TS (Chosen Option)
(B) O Honing (Correct Alternative)
i (Correct Alternative)
(C) O Grinding
o

(D) O Lapping
At

Question No. 12 / Question ID 188 Marks: 2.00
Which type of drive is used for shortest distance and for large amount of power transmission?
el gt & fore ofR o) O A Wk TR & o for YR @t g18a 1 IuanT faha Sirar 82
(A) O Rope drives

SR
(B) O Gear drives (Correct Alternative)
$T%d (Correct Alternative)
(C) O Beltdrives
See giEd
(D) O Chain drives (Chosen Option)
a??;'l?d (Chosen Option)

Question No. 13 / Question ID 184 Marks: 2.00
What is the name of pulley?
Bl % YHR T A1 Fd130?

(A) O Step pulley
WY geeit

(B) O V groove pulley (Chosen Option)
at a Qﬁﬁ (Chosen Option)
(C) O Flat pulley (Correct Alternative)
(Correct Alternative)
(D) O Fast and loose pulley
WRE 3R T et

Question No. 14 / Question ID 252 Marks: 2.00
What is the name of lubrication system?

39 Qg YUl &7 1H o1 82




(A) O Ring oiling
& simafer

(B) O Splash lubricating (Correct Alternative)
(Correct Alternative)
(C) O Wick feed
IEEAEE]

(D) O Gravity feed (Chosen Option)
IS (Chosen Option)

Question No. 15/ Question ID 189
What is marked as 'X'?

X'F ®U H 1 fufgd 82

(A) O Shaft
MU
(B) O Key (Correct Alternative)
(Correct Alternative)
(C) O Coupling (Chosen Option)
T (Chosen Option)

(D) O Bolt
e

Marks: 2.00

Question No. 16 / Question ID 70
Which method of surface hardening is done in a heated salt bath?

T Hiee 91U A DI 1 IRBY g1 71 1 fafdy Bt Srelt 872

Marks: 2.00




(A) O Liquid carburising (Correct Alternative)
- T (Correct Alternative)
(B) O Gas carburising (Chosen Option)
T (Chosen Option)
(C) O Flame hardening

(D) O Pack carburising
. i

Question No. 17 / Question ID 64 Marks: 2.00
What is the name of instrument?
3 4 BT A1 FT 72

(A) O Depth vernier gauge
ST IR T

(B) O Clamp type height gauge
REGIES AR
(C) O Vernier height gauge
g R gTge el
(D) O Height gauge with slip gauge holder (Correct Alternative) (Chosen Option)
v e gl & Iy 313‘1' Tl (Correct Alternative) (Chosen Option)

Question No. 18 / Question ID 110 Marks: 2.00
What is the part marked as ‘X’ in the bearing?

fyafeT & 'x' gRI RIfgd YmT &1 719 . 82




(A) O Rolling elements
RUNKIGE)
(B) O Ball cage (Correct Alternative) (Chosen Option)
CIKact (Correct Alternative) (Chosen Option)
(C) O Outerrace
IR
(D) O Innerrace

TR

Question No. 19 / Question ID 213
Which valve is used for fine control of flow in pipe line?

U139 18 § UaTe & W (Evi(BTe Suciar) & fo 3 aTed 1 IuanT fbar Sirar g2

(A) O Non - return valve
1 fee area
(B) O Globe valve
e dled
(C) O Needle valve (Correct Alternative)
dled (Correct Alternative)
(D) O Gate valve (Chosen Option)
e ared (Chosen Option)

Marks: 2.00

Question No. 20 / Question ID 30

Which file used as finishing tool and ensure precision smoothness?

IR ISRV & T4 H 5 WIsd 1 IuaiT foran o1l § oiR e e Rfdd a1 82

(A) O Drea\fjnaught file
E3EN]

(B) O Warding file

CIRURAEK]
(C) O Swiss pattern file (Correct Alternative)

Yo WIgd (Correct Alternative)

(D) O Pillar file (Chosen Option)

R w1z (Chosen Option)

Marks: 2.00

Question No. 21/ Question ID 1
Which special file is used for narrow work?
1ol Bl 3 fore o faRiy thrset &1 Ui fasar i g2
(A) O Swiss pattern file
&9 U B
(B) O Pillar file (Correct Alternative) (Chosen Option)
WIgd (Correct Alternative) (Chosen Option)
(C) O Square file
THIRR BIgd
D) O Dreag naught file
IE Fic BIRd

Marks: 2.00

Question No. 22 / Question ID 204
How hydraulic transmission force is controlled?
BRSIfad iR 9a $o Fufd gt 82
(A) O By electric
farega amr
(B) O Byair
EEIK
(C) O By fluids (Correct Alternative)
T TSIl gRI (Correct Alternative)
(D) O By gears (Chosen Option)
o g (Chosen Option)

Marks: 2.00

Question No. 23 / Question ID 120

Which bearing material is used in connecting rod and electrical motors?

PG S 3R FAfdedd Aicd H B Tt faafeT anrht &1 IuaeT o ST g2

(A) O Copper lead alloy (Correct Alternative)
ProR ot iy YTd (Correct Alternative)
(B) O White metal (Chosen Option)
qrge Bed (Chosen Option)
(C) O Sintered alloy
ez iy org

(D) O Aluminium alloy
iy urg

Marks: 2.00

Question No. 24 / Question ID 94
What is the name of gauge?
S 7l &7 ATH 1 82

Marks: 2.00




(A) O Radius gauge (Correct Alternative)
LS| (Correct Alternative)
(B) O Angle gauge
USRS
(C) O Pitch gauge
o= e

(D) O Feeler gauge (Chosen Option)
PIER Tl (Chosen Option)

Question No. 25 / Question ID 119 Marks: 2.00
Which metal is used in electroplating to the metal surface to resist corrosion for long period and to retain high polish?
TS GG TP ST AT T ST AR I GITOIT Bl §1 1@ & o o1 &1 Tg B SAaSiiedT B b oIg &1 IudT fasa Sirar 872
(A) O Lead
NiSS

(B) O Aluminium (Chosen Option)
(Chosen Option)
(C) O Chromium (Correct Alternative)
(Correct Alternative)
(D) O Nickel
[RE]

Question No. 26 / Question ID 163 Marks: 2.00
Why aluminium is used widely in aircraft industries?
foum I & ave U § vegrifad o1 IudiT ot faar o 82
(A) O Hard and Brittle
7S 3R foyea
(B) O Light weight (Correct Alternative)
gobl dul- (Correct Alternative)
(C) O Low thermal conductivity (Chosen Option)
FH U aredhdl (Chosen Option)
(D) O High tensile strength
3= d=dl diehd

Question No. 27 / Question ID 225 Marks: 2.00
What is the type of filter?
fOheer &1 UHR a1 872




(A) O Magnetic filter
' e

(B) O Absorbent filter
fedsc fheer

(C) O Mechanical filter (Correct Alternative)
freer (Correct Alternative)
(D) O Return line filter (Chosen Option)
qrgA flheex (Chosen Option)

Question No. 28 / Question ID 157
Which metal is extracted from bauxite ore?
FeTST 3% A for U 1 FAdsTa ST 872
(A) O Aluminium (Correct Alternative)

(Correct Alternative)
(B) O Brass
CIGS]

(C) O Zinc (Chosen Option)
ST (Chosen Option)
(D) O Copper
GIEL

Marks: 2.00

Question No. 29 / Question ID 129
What is the name of the pipe fitting?
T U3y fohfT o1 919 1 82

(A) O Long radius elbow
AT ST Tt
(B) O Tee joint pipe (Chosen Option)
T Silge UIgY (Chosen Option)
(C) O Short radius elbow
RS

(D) O 45° elbow (Correct Alternative)
45° Tedl (Correct Alternative)

Marks: 2.00

Question No. 30 / Question ID 112
Which bearing is used in the limited space?

iftra SrTet # fopw foafiar &1 I fobam e 82

Marks: 2.00




(A) O Thrust ball bearing
HECIK

(B) O Taper roller bearing (Chosen Option)
TR ot (Chosen Option)

(C) O Angular contact ball bearing
WER Plede ard faafaT

(D) O Needle bearing (Correct Alternative)

(Correct Alternative)

Question No. 31 / Question ID 3
What is the purpose of key?
Foll B I
(A) O Assembly purpose
sgeht & & & ferg
B) O Lock the assembly part (Chosen Option)
YT I Al BT (Chosen Option)
(C)O To transmit torque (Correct Alternative)
& Tafed s F fore (Correct Alternative)

(D) O Permit clearance between mating part

e a1 YT & o FAE UeH R

Marks: 2.00

Question No. 32 / Question ID 279 Marks: 2.00

What is the purpose of triangular frame base resting on ground in the frame of derrick lifting equipment?

ThH 3MYR IRP IS ITHIUN B! W1 H SHA W 3R BT LT T 872
(A) O Avoid slipping of load

EISEAIESEERECE]
(B) O Prevent imbalance of load (Chosen Option)

& Wﬁm Chosen Option)

(C) O Prevent base from moving under load (Correct Alternative)

T H A & 9 3 A Ar (Correct Alternative)
(D) O Prevent the vibration

HUF Bl ApT

Question No. 33 / Question ID 209
Which system gets compressed air as energy inputs?
D I yunet § SHoit 3Ye & U A UifSd gaT (HUkS TIR) Ui Hal 82
(A) O Mechanical System
ECaR G

Marks: 2.00

(B) O Hydraulic System
grEgiied REen

(C) O Pneumatic System (Correct Alternative)
(Correct Alternative)
(D) O Electrical System (Chosen Option)
d UMt (Chosen Option)

Question No. 34 / Question ID 291 Marks: 2.00
How many types of test mandrels are available for geometrical test?
ST TRt 3 foTe fha TR & Se g Juasd Bid 672
(A) O Six
EHN
(B) O Two (Correct Alternative) (Chosen Option)
33[ (Correct Alternative) (Chosen Option)
(C) O Three
=

(D) O Four
IR

Question No. 35/ Question ID 37
Which is the abrasive used for lapping soft steel and non-ferrous metals?

e srrees (UaRia) BT IUENT R 3XTd 3R 3rdlie U1geit & At & frg famam s 32
(A) O Siliconvcarbide

Marks: 2.00

(B) O Diamond (Chosen Option)
BRI (Chosen Option)

(C) O Boron carbide
aRM

(D) O Fused alumina (Correct Alternative)
TS TEGHIAT (Correct Alternative)

Question No. 36 / Question ID 144
What is the name of jig?
= o1 &1 W T 82

Marks: 2.00




(A) O Post jig (Chosen Option)
91T (Chosen Option)
(B) O Turn over jig (Correct Alternative)
o fomr (Correct Alternative)
(C) O Sandwich jig
Hsfoa fom

(D) O Boxjig
Sy o

Question No. 37 / Question ID 76 Marks: 2.00
Which type of key used if the hub of pulley has to axially slide on the shaft to some distance?

& &9 1 Yt o 31efi U ¥ $3 g8 I WM R WSS HAT 8, O b UBR BT Front BT IuTNT {3 o 82
(A) O Flat saddle key
Tie Jsd B

(B) O Feather key (Correct Alternative) (Chosen Option)
W il (Correct Alternative) (Chosen Option)
(C) O Hallow saddle key
Jsa

(D) O Circular taper key
TR B

Question No. 38 / Question ID 158 Marks: 2.00
What is the name of belt fastener?
Yo IE-R BT JTAH 872

(A) O Lagrelle type
AR eTZY
(B) O Wire type
dRR TIkY
(C) O Crescent plate type (Chosen Option)
@ @e e12Y (Chosen Option)
(D) O Alligator type (Correct Alternative)
CIgU (Correct Alternative)

2) WORKSHOP CALCULATION AND SCIENCE

‘ Question No. 1/ Question ID 310 Marks: 2.00




Which hand book referred by machine engineer?
TR SoffaR gr1 fAfdte gkt @r 82
(A) O CRC

K

(B) O Parry's cheorikal
RS FRea

(C) O Mark standard (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Oxford Dictionary
IS

Question No. 2 / Question ID 298
Which is used to reduce the friction in machine parts?
AT T o Y01 Y HH HRA P (AT et IuART fvar s 872
(A) O Water
it

Marks: 2.00

(B) O Lubricants (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) O Kerosene
[EHEIRE!
(D) O Petrol
LGS

X

Question No. 3 / Question ID 307
What are the various stages of heat treatment?
ST IUAR & fafi= ==or 1 82
(A) O Quenching, Cooling and Heating

Marks: 2.00

(B) O Heating, Cooling and Quenching

(C) O Heating, Soaking and Quenching (Correct Alternative) (Chosen Option)
, TifT 3R =R (Correct Alternative) (Chosen Option)

(D) O Soaking, Quenching and Cooling

Question No. 4 / Question ID 309
What is colour of a metal piece when heated to 250°C while doing the tempering process?

T Ufehar IR T TP U1 B THS Bl 250°C TR TH {31 e B, Al I U1 & ThS T 11 -1 g2
(A) O Purple
CUEl

Marks: 2.00

(B) O Brown (Correct Alternative) (Chosen Option)
YR (Correct Alternative) (Chosen Option)
(C) O Blue
e

(D) O Pale
e

Question No. 5/ Question ID 311
Which authority publishes schedule of rates?
BI-91 NIRRT &R P ST BT U Hell 87
(A) O Individual
iR

Marks: 2.00

(B) O Partnership firm
IERIRT wH

(9Fe) Corporate
e @ gefdra (@TaRe)
(D) O Government department (Correct Alternative) (Chosen Option)
faumr (Correct Alternative) (Chosen Option)

Question No. 6 / Question ID 313
What is the other term of pocket reference in engineering works?
oA Bl o Ulthe Y0 T GERT eg 31 82
(A) O Hand book (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(B) O Good book
Ts g9
(C) O New book
q 9P
(D) O Hand tool
'

Marks: 2.00

3) ENGINEERING DRAWING

Question No. 1/ Question ID 336
Which nut can be easily operated with thumb and finger?
o 3T 3R JTeht & STt § Tenferd fopan o Tavan 82
(A) O Wing nut (Correct Alternative)

I (Correct Alternative)

Marks: 2.00




(B) O Capstan nut
U T

(C) O Dome nut
SEE

(D) O Lock nut (Chosen Option)
@& ¢ (Chosen Option)

Question No. 2 / Question ID 316 Marks: 2.00
Rivets are generally, specified by .
ey wR___ grIffEy Fuam g
(A) O length of rivet (Chosen Option)
P TS (Chosen Option)
(B) O diameter of head
TS 1 A™
(C) O nominal diameter (Correct Alternative)
(Correct Alternative)
(D) O all of these
BN

Question No. 3 / Question ID 332 Marks: 2.00

Objects that are symmetric can be shown effectively using this type of section
T YBR P U BT IUTNT b JHAT TXg3H 1 U ST d B feRaman 1 Wb g
(A) O quarter section

agd SfgHm
(B) O full section

o SrgumT
(C) O symmetric section

STHTT

(D) O half section (Correct Alternative) (Chosen Option)

S{TYT 3JHTT (Correct Alternative) (Chosen Option)

Question No. 4/ Question ID 322 Marks: 2.00
Riveted joints is a
Rdcs wige
(A) O permanent joints
Rt Sige
(B) O temporary joints
ST} S e
(C) O semi permanent (Correct Alternative) (Chosen Option)
3ref =T (Correct Alternative) (Chosen Option)
(D) O none of these

EREREZRG]

Question No. 5/ Question ID 339 Marks: 2.00
CPRF stands for.
CPRF &1 7dd4 ¢,
(A) O Combined Plain Round Foundation
Combined Plain Round Foundation
(B) O Corrosion Proof Raft Foundation
Corrosion Proof Raft Foundation
(C) O Combined Pile Raft Foundation. (Correct Alternative) (Chosen Option)
Combined Pile Raft Foundation. (Correct Alternative) (Chosen Option)
(D) O Connected Pile Round Foundation
Connected Pile Round Foundation

Question No. 6 / Question ID 329 Marks: 2.00
Which symbol is used for butt joints?

§e Sige & foru fpg fore &1 wah fban o 22

(A) O . .
(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)




(B)O

©o

()X

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 358

(A) O formal communication (Correct Alternative) (Chosen Option)
formal communication (Correct Alternative) (Chosen Option)
(B) O an order
an order
(C) O arequest
a request
(D) O informal communication
informal communication

You are requested to complete the given assignment by Monday This is an example of....
You are requested to complete the given assignment by Monday This is an example of....

Marks: 2.00

Question No. 2 / Question ID 379
Identify the opposites. clean x ---------------- , healthy X -----------mrm oo
Identify the opposites. clean x --------------—-- , healthy X ----------mmmmm oo
(A) O dirty, unhealthy (Correct Alternative)
dirty, unhealthy (Correct Alternative)
(B) O . dirty, healthy
. dirty, healthy
(C) O dirt, unhealthy
dirt, unhealthy
(D) O dirty, health (Chosen Option)
dirty, health (Chosen Option)

Marks: 2.00

Question No. 3 / Question ID 495

Marks: 2.00




Computer program that allows you to create slides for presentahon is knownas___
HR YU S MU TRfd HTT W3s s B SIS a8 FY - b U H ST STl 8.
(A) O MS Excel
MS Excel
(B) O MS Word (Chosen Option)
MS Word (Chosen Option)
(C) O MS Power Point (Correct Alternative)
MS Power Point (Correct Alternative)
(D) O MS Access
MS Access

Question No. 4 / Question ID 501 Marks: 2.00
Believing that you have the capability to achieve your dreams is called........
Ig 3T AT % 37U U 370 U I UTed o3 Bt &7l §, ST ... I Il B
(A) O Self belief (Correct Alternative)
3T fasarg (Correct Alternative)
(B) O Grit (Chosen Option)
& (Chosen Option)
(C) O Independent decision making
oA ot o
(D) O Self-awareness
S{TH SReh dl

Question No. 5/ Question ID 366 Marks: 2.00
Complete the sentence with suitable describing words There isn’t any amusement park in the area. Itisa ___ place.
Complete the sentence with suitable describing words There isn’t any amusement park in the area. Itisa ___ place.
(A) O noisy

noisy
(B) O boring (Correct Alternative)
boring (Correct Alternative)
(C) O polluted
polluted
(D) O dry (Chosen Option)
dry (Chosen Option)

Question No. 6 / Question ID 506 Marks: 2.00
are at the centre of any business.
e <t fosra s g F= e 81 .
(A) O Customers (Correct Alternative) (Chosen Option)
ATgd (Correct Alternative) (Chosen Option)
(B) O Licence
NIBSERS
(C) O Working capital
I wtea

(D) O Bank loan
% dF

Question No. 7 / Question ID 449 Marks: 2.00
Codes of conduct an individual must follow while appearing for interviews is called
gevey & fTU IURYA 81 & SR Uab ek &) IS 3 Preae I Uler BT MY, I v ARSI
(A) O etiquette (Correct Alternative)
(Correct Alternative)

(B) O simplicity
reft

(C) O decorum

(D) O manners (Chosen Option)

ATTEAR (Chosen Option)

Question No. 8 / Question ID 550 Marks: 2.00
What is the full form of " NAPS"?
" NAPS" &1 el BIH o1 82
(A) O National Approved Promotion Scheme (Chosen Option)
National Approved Promotion Scheme (Chosen Option)
(B) O New Apprenticeship Prevention Scheme
New Apprenticeship Prevention Scheme
(C) O National Apprenticeship Promotion Scheme (Correct Alternative)
National Apprenticeship Promotion Scheme (Correct Alternative)
(D) O National Aptitude Potential Scheme
National Aptitude Potential Scheme

Question No. 9 / Question ID 458 Marks: 2.00
Which key in the keyboard will end the slide show at any time?
Flale & B U I U Wiiss X &1 et ot w0 ofd g 9 52
(A) O Esc key (Correct Alternative)
Esc key (Correct Alternative)
(B) O Shift key
Shift key
(C) O Altkey
Alt key




D)O

Ctrl key (Chosen Option)
Ctrl key (Chosen Option)

Question No. 10 / Question ID 558
Which one is NOT a career site to find job?

0 Q 1 Sile T A Bl HRAR TiEE Tl 872

(A)O
(B)O
© O

D)O

babajob.com
babajob.com
timesjob.com
timesjob.com
shadi.com (Correct Alternative) (Chosen Option)
shadi.com (Correct Alternative) (Chosen Option)
Linkedin.com
Linkedin.com

Marks: 2.00

Question No. 11 / Question ID 516
The activity of setting up a business or businesses, taking on financial risk in the hope of profit is called

T B 3T H R SR IS SHa9Tg 1 T8 R B B AT BT STl 3

(A) O
(B) O
© O

D) O

Bank manager (Chosen Option)
S UsY®H (Chosen Option)
Sales executive

Entrepreneurship (Correct Alternative)
(Correct Alternative)
Merchant

Marks: 2.00

Question No. 12 / Question ID 342
Hi, how are you, what is up, these are examples of....
Hi, how are you, what is up, these are examples of....

(A) O
(B)O
© 0

(D) O

Informal communication (Correct Alternative)
Informal communication (Correct Alternative)
Impolite communication

Impolite communication

Formal communication (Chosen Option)

Formal communication (Chosen Option)

Polite communication

Polite communication

Marks: 2.00

Question No. 13 / Question ID 371
When you meet the instructor inside or outside the ITl, itis....
When you meet the instructor inside or outside the ITl, itis....

A) O
(B) O
© o

D©)O

informal the ITI

informal the ITI

. formal inside the ITI (Chosen Option)
. formal inside the ITI (Chosen Option)
informal outside

informal outside

always formal (Correct Alternative)
always formal (Correct Alternative)

Marks: 2.00

Question No. 14 / Question ID 391

Neighbourhoods may be
Neighbourhoods may be

(A) O
(B) O
©) o

D)O

explained

explained

described (Correct Alternative)
described (Correct Alternative)
included (Chosen Option)
included (Chosen Option)
separated

separated

Marks: 2.00

based on people, location, strengths and weaknesses.
based on people, location, strengths and weaknesses.

Question No. 15/ Question ID 416
To improve your listening skills and become a better communicator you need to....

T G & P o

(A O
B)O
©O0

D)O

[ IR HR 3R U 95k YIRS §4 P forg
be indifferent

SRICEIERGEIICIIHY

start listening actively (Correct Alternative)

Afora $U A AT IF B TR (Correct Alternative)
ignore listening

Y R &M 76T &A1 =1fee

listen partially (Chosen Option)

3ifR1e FU I AT AM6T (Chosen Option)

Marks: 2.00

Question No. 16 / Question ID 360
Complete the sentence with suitable describing words. The area is
Complete the sentence with suitable describing words. The area is

(A) O

beautiful
beautiful

Marks: 2.00
as the houses in it cost a lot of money.
as the houses in it cost a lot of money.




(B) O spacious
spacious

(C) O expensive (Correct Alternative) (Chosen Option)
expensive (Correct Alternative) (Chosen Option)

(D) O good
good

Question No. 17 / Question ID 510 Marks: 2.00
One important rule to network effectively is.......
quTdt Yead HA & o . TP TEaqUl A 7 |
(A) O identify your competitors
30 Ufcraferl 1 ugar=I
(B) O talk to the same people
EHEIEEICER
(C) O focus on selling your product
T UISTE S TR &AM PBived HRAT
(D) O keep in touch with your contacts (Correct Alternative) (Chosen Option)
T & 1Y U B TgAT (Correct Alternative) (Chosen Option)

Question No. 18 / Question ID 455 Marks: 2.00
Which menu helps automatic transition time to slides?
D I AL WSS & HeIAfeD TIR=H el § WeTd Bl 82
(A) O Transition-preview
(B) O Transition-slot (Chosen Option)
QT@QFI e (Chosen Option)
(C) O Transition -time (Correct Alternative)
E’Iﬁ'l:l (Correct Alternative)
(D) O Transition-rehearsal

X

Question No. 19 / Question ID 503 Marks: 2.00
Which website has an ‘ldea Bank’? where you can find a list of multiple problems faced by the country now?
T Jeumge o asfEar % 82 3@ MU 3/ & AT 3 aTelt H3 THwist & Yt wet T Uahd 82
(A) O Start-up India (Correct Alternative)

Startup India (Correct Alternative)
(B) O Google (Chosen Option)

Google (Chosen Option)
(C) O Yahoo

Yahoo
(D) O Firefox

Firefox

Question No. 20 / Question ID 508 Marks: 2.00
registration would help to access the schemes introduced by the Government.
SRR A A WBR GRT L= B 7T ArorTeH 9 Uga- B Hag e g1
(A) O Udyog Aadhaar (Correct Alternative) (Chosen Option)
IR MR (Correct Alternative) (Chosen Option)
(B) O TIN
TIN
(C)O GST
GST
(D) O Pan card
U BT

Question No. 21 / Question ID 344 Marks: 2.00
The Principal called Manoj. The Principal asked......... to show........ hall ticket for the CTS Examination.
The Principal called Manoj. The Principal asked......... to show........ hall ticket for the CTS Examination.
(A) O her, him

her, him
(B) O her, his (Chosen Option)
her, his (Chosen Option)
(C) O him, her
him, her
(D) O him, his (Correct Alternative)
him, his (Correct Alternative)

Question No. 22 / Question ID 428 Marks: 2.00
The crucial step that all face while starting their career is....
ST HRIR Y= I T Tt 1 Fory Ayl HgH &1 ITH-1 ST USdl 8, 8 ... |
(A) O feeling happy
2
(B) O facing an interview (Correct Alternative) (Chosen Option)
SeX o DI HIHAT DT (Correct Alternative) (Chosen Option)
(C) O going on a tour
TR W ST
(D) O relaxing
SIRTH HAT

Question No. 23 / Question ID 513 Marks: 2.00




Human resources are.......

AT WY -8

(A) O your competitors
3fTas Hfaegeff

(B) O your staff (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) © Human right activists
HATEBR

(D) O your customers
PIRES

Question No. 24 / Question ID 367
Complete the sentence with suitable describing words There is a factory in the area. The air is
Complete the sentence with suitable describing words There is a factory in the area. The air is
(A) O boring
boring
(B) O polluted (Correct Alternative)
polluted (Correct Alternative)
(C) O noisy (Chosen Option)
noisy (Chosen Option)
(D) O uneven
uneven

Marks: 2.00

Question No. 25 / Question ID 372
Role models people to follow them
Role models people to follow them
(A) O motivate (Chosen Option)
motivate (Chosen Option)
(B) O instruct
instruct
(C) O inspire (Correct Alternative)
inspire (Correct Alternative)
(D) O elevate
elevate

Marks: 2.00




